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The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS & A Level 
Law, and to show how different levels of candidates’ performance (high, middle and low) relate to the syllabus 
requirements. This document helps teachers to assess the standards required to achieve marks beyond the guidance 
of the mark scheme.

In this booklet candidate responses have been chosen from the June 2023 exam series to exemplify a range of 
answers.

For each question, the response is annotated with examiner comments about where and why marks were awarded or 
omitted. This is followed by comments on how the answer could be improved. There is also a list of common mistakes 
and guidance for candidates.

Please refer to the June 2023 Examiner Report for further details and guidance.

The mark scheme is available on the School Support Hub

Introduction

Past exam resources and other teaching and learning resources are available on the School Support Hub

9084 June 2023 Question Paper 32

9084 June 2023 Mark Scheme 32

http://www.cambridgeinternational.org/support
http://www.cambridgeinternational.org/support
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How the candidate could improve their answer
•	 The starting point is to identify the area of law relevant to the scenario given. Starting each answer with an 

overview of formation of a contract is only relevant if the scenario relates to formation. Doing so for each question 
wastes valuable examination time. Candidates should not try to fit a multitude of different areas of law into one 
answer. Questions are usually specific to one area of contract law.

•	 Connected to the point above, applying accurate law is a must. When inaccurate AO1 is set out, inaccurate AO2 
generally follows.

       AO1: The introduction sets 
out that the general principles 
of formation of contract have 
no place in a question solely on 
discharge of contract.

AO2 and AO3: This is merely an 
introduction with no application 
to the scenario set.

       AO1: Consideration and 
pre-existing contractual duties 
as per William v Roffey are not 
relevant to this scenario and, as 
a result, are not creditworthy.

How to use this booklet
This booklet goes through the paper one question at a time, showing you the high-, middle- and low level response for 
each question. In the left-hand column are the candidate responses, and in the right-hand column are the examiner 
comments.

Example Candidate Response – low Examiner comments

1

1

Common mistakes and guidance
•	 Not identifying the key areas of discharge of contract and not demonstrating detailed knowledge of the different 

areas of discharge. There were three key areas which needed to be addressed in the scenario. More often than not 
there was an overview of the areas. Explanations lacked detail and failed to demonstrate thorough understanding 
and knowledge.

•	 A common mistake was identifying part-performance but ot addressing the need to show voluntary acceptance of 
part-performance. This is a crucial point and needed to be aplied to the given scenario. Another common mistake 
was inaccurate application to the trees at the front. The tree work was done and payment already made. 

Answers are by real candidates in exam conditions. 
These show you the types of answers for each level. 
Discuss and analyse the answers with learners in the 
classroom to improve their skills.

Examiner comments are 
alongside the answers. These 
explain where and why marks 
were awarded. This helps you 
to interpret the standard of 
Cambridge exams so you can 
help your learners to refine their 
exam technique.

This section explains how the candidate could have 
improved each answer. This helps you to interpret 
the standards of Cambridge exams and helps your 
learners to refine their exam technique.

This section lists common mistakes as well as 
helpful guidance from the examiner. This will help 
your learners to avoid these mistakes. You can 
use this alongside the relevant Examiner Report to 
guide your learners.

2

2
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Question 1

Example Candidate Response – high Examiner comments

       AO1: No credit awarded for 
the first paragraph as there is no 
requirement to set the scene and 
repeat elements of the scenario.

AO2 and AO3: This sets the scene 
but there is no application to the 
given scenario.

       AO1: This is a good explanation 
of partial performance using 
Sumpter v Hedges to illustrate 
aspects of the legal concept.

AO2 and AO3: This is a brief but 
accurate application of partial 
performance to the installation 
of some of the windows. The 
final line in this paragraph shows 
an understanding that choice 
is something to consider. The 
candidate sub-concludes this part of 
the response and this is supported 
by relevant law.

1

2

1

2
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Example Candidate Response – high, continued Examiner comments

       AO1: Accurate identification 
that there is an issue of substantial 
performance in terms of the number 
of washbasins installed. Two key 
authorities are used to illustrate 
situations where a claim for 
substantial performance will or will 
not be permitted.

AO2 and AO3: The candidate 
explains briefly but accurately 
why they are not applying Bolton 
v Mahadeva. Additional credit is 
available for explaining that Asif 
would be required to pay the full 
amount less that needed to put 
right the damage, i.e. replacing one 
washbasin. The candidate stays 
focused on the issue throughout the 
paragraph.

3
3



Example Candidate Responses – Paper 3

8

Example Candidate Response – high, continued Examiner comments

       AO1: Identification that 
the issue in the last part of the 
scenario is concerning prevention 
of performance and that there may 
be a claim on a quantum meruit 
basis. This demonstrates a detailed 
knowledge and understanding of 
this aspect of discharge of contract.

AO2 and AO3: Some reasoned and 
accurate application of prevention 
of performance is given. The 
candidate mentions quantum meruit 
but there is no application of how it 
would apply.

       The candidate gives a vague, 
uncertain conclusion. Conclusions 
ideally round off the answer 
and advise the client as per the 
question.

Mark for AO1 = 12 out of 12
Mark for AO2 = 4 out of 5
Mark for AO3 = 5 out of 8

Total mark awarded =
21 out of 25

4

5

4

5

How the candidate could improve their answer
•	 The candidate could have set out legal reasons/principles as opposed to writing out, in detail, the facts of cases. 

Each element of discharge has specific issues/rules needing to be explained. These needed to be set out to 
demonstrate knowledge and understanding.

•	 Whilst the candidate focused on the three issues in the scenario, the application, at times, lacked depth. For 
example, the candidate might have added that partial performance requires voluntary acceptance and applied this 
aspect to the scenario, for example, did Asif have a choice? With substantial performance, the answers needed a 
sub-conclusion stating that the agreed full sum needed to be paid less the cost of replacing the one sink.
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Example Candidate Response – middle Examiner comments

       AO1: The candidate makes 
a good start by identifying that 
the starting point for discharge of 
contract is that entire performance 
is required. An accurate case of 
authority is identified.

AO2 and AO3: This is a focused 
and reasoned application of 
the entire performance rule. 
The application is, as required, 
supported by case authority.

       AO1: The candidate uses 
the words partial performance 
but does not explain the criteria 
accurately. They also use authority 
for a different area of discharge of 
contract namely divisible (Richie v 
Atkinson).

AO2 and AO3: The candidate’s 
response lacks focus and 
concentrates on the entire 
performance rule. The candidate 
does not identify that some of 
the work was completed before 
abandonment and that abandoned 
supplies were used to complete 
the job. The fact that there was no 
voluntary acceptance on the part of 
Asif is overlooked.

1

2

1

2
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Example Candidate Response – middle, continued Examiner comments

       AO1: The candidate identifies 
substantial performance but lacks 
accurate explanation of the criteria, 
for example, the candidate states 
that minor defects can be ignored. 
Two appropriate cases are cited by 
name with no explanation of how 
they are relevant.

AO2 and AO3: There is limited 
application of the substantial 
performance rule. The candidate 
identifies that Asif must pay for the 
job performed but not that, if this is 
substantial performance, he will be 
required to pay the full amount less 
the cost of putting right the defect. 
The candidate states ‘the least he 
can do’ implying that morally this is 
the correct thing to do rather than 
applying legal rules.

33
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Example Candidate Response – middle, continued Examiner comments

       AO1: The candidate accurately 
identifies that payment may be 
made on a quantum meruit basis.

AO2 and AO3: There is some 
confusion regarding where quantum 
meruit applies. The candidate 
appears to suggest this will apply 
when payment has already been 
made.

       AO1: The candidate addresses 
divisible contracts, but the 
understanding and knowledge 
demonstrated of this principle is 
limited.

AO2 and AO3: The candidate 
inaccurately applies the concept 
of divisible contract in a situation 
where such does not apply. 
Authorities used to support this are 
not relevant.

Mark for AO1 = 5 out of 12
Mark for AO2 = 3 out of 5
Mark for AO3 = 3 out of 8

Total mark awarded =
11 out of 25

4
4

5

5

How the candidate could improve their answer
•	 Candidates needed to provide more accurate and detailed descriptions of the relevant areas of discharge of 

contract. This will come from better use of authorities and greater accuracy in explaining concepts.
•	 Detailed and accurate application is key to entering the higher mark levels. It is important to read the scenario 

carefully so that the relevant law can be applied effectively.
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Example Candidate Response – low Examiner comments

       AO1: The introduction sets 
out that the general principles of 
formation of contract have no place 
in a question solely on discharge of 
contract.

AO2 and AO3: This is merely an 
introduction with no application to 
the scenario set.

       AO1: Consideration and pre-
existing contractual duties as per 
William v Roffey are not relevant to 
this scenario and, as a result, are 
not creditworthy.

AO2 and AO3: Application of 
Williams v Roffey suggests 
confusion as to the relevant area of 
law.

       AO1: The candidate identifies 
‘specific’ performance and the 
requirement that all work needs to 
be done.

AO2 and AO3: The candidate 
shows some understanding of the 
concept of entire performance and 
applies this to the scenario.

1

2

3

1

2

3
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Example Candidate Response – low, continued Examiner comments

       AO1: The Consumer Rights 
Act has no place in this scenario 
and demonstrates a lack of 
understanding of the legal concepts 
relevant to the scenario.

AO2 and AO3: Application of the 
Consumer Rights Act shows lack of 
awareness of the relevant area of 
law being addressed.

       AO1: There is implied 
recognition of the need to repair/
replace the one broken wash basin 
but no detail regarding payment is 
given.

AO2 and AO3: The candidate gives 
a limited, reasoned application but 
accurate conclusion regarding Carl 
being required to repair or replace 
the broken wash basin. There is no 
relevant law applied.

       AO1: Non-pecuniary remedy 
has no place in a discharge of 
contract response unless remedies 
are specifically asked for.

AO2 and AO3: A remedy cannot be 
granted in the absence of a breach. 
No application of discharge of 
contract.

       AO1: No accurate law.

AO2 and AO3: The candidate 
provides a vague conclusion without 
foundation.

Mark for AO1 = 1 out of 12
Mark for AO2 = 2 out of 5
Mark for AO3 = 1 out of 8

Total mark awarded =
4 out of 25

5

56

7

6

7

4

4
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Common mistakes and guidance
•	 Not identifying the key areas of discharge of contract and not demonstrating detailed knowledge of the different 

areas of discharge. There were three key areas which needed to be addressed in the scenario. More often than not 
there was an overview of the areas. Explanations lacked detail and failed to demonstrate thorough understanding 
and knowledge.

•	 A common mistake was identifying part-performance but not addressing the need to show voluntary acceptance of 
part-performance. This is a crucial point and needed to be applied to the given scenario. Another common mistake 
was inaccurate application to the trees at the front. The tree work was done and payment already made. 

How the candidate could improve their answer
•	 The starting point is to identify the area of law relevant to the scenario given. Starting each answer with an 

overview of formation of a contract is only relevant if the scenario relates to formation. Doing so for each question 
wastes valuable examination time. Candidates should not try to fit a multitude of different areas of law into one 
answer. Questions are usually specific to one area of contract law.

•	 Connected to the point above, applying accurate law is a must. When inaccurate AO1 is set out, inaccurate AO2 
generally follows.
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Question 2

Example Candidate Response – high Examiner comments

       AO1: Whilst it is not necessary 
to explain the relevant area of law 
and no credit is available, some 
candidates find this a useful way to 
introduce the topic.

AO2 and AO3: There is accurate 
identification of relevant area of 
law but no creditworthy application/
evaluative comments.

       AO1: There is no requirement 
to explain old and new law in 
scenario questions.  

AO2 and AO3: The candidate 
accurately identifies that Zoe is a 
minor but inaccurately states she 
is minor as she has just celebrated 
her 18th birthday.

1

2

1

2
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Example Candidate Response – high, continued Examiner comments

       AO1: The candidate takes each 
issue in the scenario and addresses 
them methodically starting with the 
lease. This is a good technique. 
There is detailed knowledge and 
understanding of voidable contracts 
is demonstrated and relevant cases 
cited.

AO2 and AO3: The candidate 
accurately uses the AO1 to apply 
to the issue of the lease and the 
fact that due to her age she can 
repudiate the agreement. The 
answer would have benefitted from 
adding that she would not be able 
to claim back what she had already 
paid.

       AO1: The candidate drifts 
slightly into beneficial contracts of 
service and the issue of financial 
independence. This is not relevant 
to the loan. However, sub-
concludes accurately.

AO2 and AO3: Application to 
beneficial contracts of service 
suggest some misunderstanding of 
when to apply this area of law.

33

4 4
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Example Candidate Response – high, continued Examiner comments

       AO1: The candidate accurately 
identifies the relevance of the 
Minors Contract Act including the 
correct section (Section 2) when 
there is a guarantor involved. There 
is a clear understanding of this area 
of capacity.

AO2 and AO3: The candidate 
very briefly but accurately applies 
Section 2 by stating that her parents 
will be liable. Limited reasoning is 
shown.

       AO1: The candidate 
demonstrates accurate and detailed 
knowledge and understanding of 
the concept of necessary goods 
supported by statutory authority.

6 6

5 5
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Example Candidate Response – high, continued Examiner comments

       AO1: In this paragraph, the 
candidate demonstrates further 
knowledge of the concept of 
necessary goods with relevant 
cases used to illustrate.

       AO1: In this paragraph, the 
candidate continues on the theme 
of necessary goods and adds 
further detail.

AO2 and AO3: There is detailed 
application of the concept of 
necessaries. Using Nash v 
Inman and Chapple v Cooper, 
the candidate decides that the 
computer is not a necessary and 
explains why.

       AO1: The candidate draws all 
previous cited law into a conclusion.

AO2 and AO3: There is a brief but 
accurate conclusion restating the 
advice given to Zoe.

Mark for AO1 = 10 out of 12
Mark for AO2 = 4 out of 5
Mark for AO3 = 6 out of 8

Total mark awarded =
20 out of 25

7

8

9

7

8

9
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How the candidate could improve their answer
•	 The candidate should have remembered to concentrate on the relevant areas rather than trying to fit all areas of 

capacity into the response.  Whilst there is mostly accurate and relevant law, the candidate drifted into an area 
which had no place in this response.

•	 On the whole, the application was mostly focused on the issues and was supported by relevant material.  There 
was a slight drift into inaccurately applying beneficial contracts of service and limited detailed application in respect 
of the loan.  
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Example Candidate Response – middle Examiner comments

       AO1: Whilst re-writing the 
scenario may help candidates 
concentrate their minds on the area 
of law, there is no credit available 
and doing so uses up valuable 
examination time.

       AO1: The candidate 
demonstrates their appreciation 
of the three distinct contracts that 
need addressing.

       AO1: The candidate states the 
correct statute to identify the age of 
capacity in contract law.

AO2 and AO3: The candidate 
correctly identifies Zoe as a minor 
as she is 17 years old.

22

1
1

3 3
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Example Candidate Response – middle, continued Examiner comments

       AO1: There is mostly an 
accurate explanation of necessary 
goods including a definition of a 
necessary and case illustration.

AO2 and AO3: Mostly focused and 
reasoned application to the issue 
of the computer. The candidate 
explains why the computer would 
not be considered necessary and 
effectively supports the application 
with relevant case authority.

       AO1: Whilst the case cited 
by the candidate is relevant to 
necessary goods, the candidate 
drifts into a general look at capacity.

AO2 and AO3: There is a drift into 
services and bank loans which are 
two separate aspects.

       AO1: Beneficial contracts of 
services and, in particular, contracts 
of employment are not relevant 
to this scenario. There is no 
employment issue to address.

4

5

6

4

6

5
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Example Candidate Response – middle, continued Examiner comments

       AO1: The candidate recognises 
that leases are contracts of an 
ongoing nature and briefly sets out 
the rights and obligations of the 
parties. The candidate accurately 
identifies the position of the landlord 
but lacks case authority.

AO2 and AO3: Some reasoned 
application of the law in respect 
of the rent and the fact that Zoe 
has (or should have) paid rent up 
to the point of ‘stopping’ and that 
the Landlord will not have to return 
already paid rent. The application 
is not supported by relevant 
authorities.

       AO1: There is simplistic but 
accurate identification of the law 
relating to loans. The candidate 
lacks the use of relevant law 
namely, Section 2 Minors Contract 
Act 1987.

AO2 and AO3: There is simplistic 
but accurate and reasoned 
application to the issue of the loan. 
However, this was not supported by 
relevant authorities.

Mark for AO1 = 7 out of 12
Mark for AO2 = 3 out of 5
Mark for AO3 = 4 out of 8

Total mark awarded =
14 out of 25

7

8

7

8
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How the candidate could improve their answer
•	 To achieve high marks, candidates are required to demonstrate a thorough knowledge and understanding of 

the key areas. This requires detailed and accurate descriptions. The descriptions need to be substantiated with 
relevant authority – statutory or case law. This candidate did not cite any law in respect of two of the three issues, 
namely in respect of voidable contracts and void contracts and the relevance of the Minors’ Contracts Act 1987.

•	 The application of the law associated with necessary goods was good and effectively supported by relevant 
material namely case authority. Both the lease and the loan were dealt with in a more simplistic manner without the 
backing of authority.
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Example Candidate Response – low Examiner comments

       AO1: The candidate starts 
by introducing the area of law 
including enforceable and voidable 
contracts. This demonstrates 
some understanding of capacity. 
There was no credit available 
for the explanation of beneficial 
contracts of service as they have no 
relevance to issues in the scenario.

AO2 and AO3: The candidate does 
not use the law to identify that Zoe 
was 17 and therefore a minor. This 
would have attracted credit.

       AO1: The candidate separates 
out the individual parts of the 
scenario. This is a good technique. 
However, there is never credit 
available for re-writing out the 
scenario. This simply uses up 
valuable examination time.

AO2 and AO3: There is no 
application or evaluation in this 
paragraph.

2

1

2

1



Example Candidate Responses – Paper 3

25

Example Candidate Response – low, continued Examiner comments

       AO1: The candidate addresses 
necessary goods. Appropriate 
statutory and case authority are 
used to illustrate.

AO2 and AO3: The candidate 
understands the concept of 
necessary goods and the relevant 
law but only states that they need 
to establish whether the computer 
was necessary but fail to do so. 
As a result, there is no evidence of 
application.

       AO1: In this paragraph, the 
candidate mentions the lease 
but wanders into the realms of 
beneficial contracts of service. In 
respect of the lease, the candidate 
needed to address voidable 
contracts.

AO2 and AO3: This paragraph 
demonstrates some confusion. 
The candidate addresses the lease 
but applies the law relevant to 
beneficial contracts of service. The 
lease would be under the heading 
‘voidable contract’. Such confusion 
means that there can be no AO2 or 
AO3 credit awarded here.

44

33
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Example Candidate Response – low, continued Examiner comments

       AO1: The candidate addresses 
the loan but wanders into an 
explanation of the law relevant 
to voidable contracts. The loan is 
unenforceable against Zoe due to 
her age.

AO2 and AO3: The candidate 
again demonstrates confusion 
and whilst addressing the loan, an 
unenforceable agreement, applies 
the law associated with voidable 
contracts. Such confusion means 
that there can be no AO2 and AO3 
credit awarded.

       AO1: Whilst there is confusion, 
the candidate accurately states that 
the lease can be ended whilst Zoe 
is a minor.

AO2 and AO3: In amongst the 
confused application of law to the 
lease and the loan, the candidate 
simplistically sub-concludes stating 
that she can break the leasing 
agreement as she is still a minor. 
The application lacks reason.

       AO2 and AO3: There is basic 
application of the law of necessary 
goods to the computer.  The 
application is limited and not fully 
reasoned or supported by legal 
rules.

       AO1: The candidate addresses 
Section 2 and the guarantor. 
However, there is no mention of the 
relevant Act.

AO2 and AO3: This paragraph 
contains some accurate application 
of the law to the loan and the 
guarantee albeit in a very brief and 
limited way.

Mark for AO1 = 5 out of 12
Mark for AO2 = 1 out of 5
Mark for AO3 = 2 out of 8

Total mark awarded =
8 out of 25

6

8

5

7

6

8

5

7
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How the candidate could improve their answer
•	 The candidate did not need to write out the whole scenario, as this serves no purpose and wastes valuable 

examination time. More marks would have been awarded if the candidate had included detailed, accurate and 
relevant information with statutory and/or case authority. The response was undermined by the errors and 
misunderstandings. Whilst this candidate did separate out the three issues, they only applied accurate law to one 
and this application was limited. Accurate law was required for all parts of the response.

•	 The quality of application was undermined by confusion and drifting into inaccurate areas. Justification for the 
advice given is key to the higher levels.

Common mistakes and guidance
•	 Setting out, sometimes in great detail, irrelevant areas of capacity, for example, the law relevant to Beneficial 

Contracts of Service. There was no such issue to discuss. Explanations of the law were often summaries rather 
than detailed. Writing out the scenario and all the facts of the case is seen often and wastes valuable time. Whilst 
material facts are relevant, there is no additional credit for the minutiae of case facts.

•	 A common mistake made by weaker candidates was to try to apply the concept of beneficial contracts of service to 
the lease, often using associate cases to justify. Candidates should not assume that each and every element of a 
concept will need to be included in a response. The key is to identify and apply relevant law. There was often a lack 
of focus and detail, for example, many candidates were able to surmise that Zoe was able to end the lease but did 
not add that she would be unable to recover monies already paid.
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Question 3

Example Candidate Response – high Examiner comments

       AO1: A good introduction 
showing an understanding of 
the topic of equitable remedies 
immediately. The candidate sets out 
briefly when they are used and why.

AO2 and AO3: Within the 
introduction, the candidate sets out 
what the remedies are and what 
they are going to address.

       AO1: In this paragraph, the 
candidate adds further detail and 
explains when equitable remedies 
might be required and adds an 
example. This shows a further 
understanding of the key area.

AO2 and AO3: This paragraph 
demonstrates an ability to analyse 
when the remedies will be used if 
damages are not enough.

       AO1: In this paragraph, the 
candidate starts by explaining 
specific performance and gives 
examples of when it will or will not 
be granted. This lacks authority but, 
later in the response the candidate 
utilises relevant authority within their 
AO2 and AO3.

AO2 and AO3: Here, the candidate 
demonstrates reasoned analysis 
of the situations when specific 
performance will or will not be 
granted. The assessment at this 
point is basic and lacks the support 
of relevant material but this will 
come later.

11

2

3

2

3
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Example Candidate Response – high, continued Examiner comments

       AO1: The candidate deals 
accurately with restitution and adds 
detail, for example, the fact that this 
is the most common remedy when 
dealing with minors.

AO2 and AO3: At this point there 
is no assessment/evaluation of 
restitution.

       AO1: The remedy of injunction 
is dealt with briefly. The two types 
are named rather than explained 
but this shows that the candidate 
is aware of this type of equitable 
remedy. At the end, the candidate 
mentions rescission but does not 
add any detail.

AO2 and AO3: At this point, there 
is no assessment or evaluation of 
types of injunctions.

       AO1: The doctrine of 
promissory estoppel is not relevant 
to a question asking for assessment 
of equitable remedies.

4

5

4

5

66
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Example Candidate Response – high, continued Examiner comments

       AO1: Whilst couched in 
amongst AO2 and AO3, discussion 
on equitable remedies in general, 
the candidate identifies two key, 
relevant cases with the facts and 
type of remedy addressed.

AO2 and AO3: It is at this point 
that the candidate fully engages 
with the question. They start here 
by discussing whether or not the 
remedies do achieve justice and 
use cases to substantiate their 
assertions. The candidate uses 
two different types of remedy. This 
would have benefitted from a more 
fully developed analysis.

       AO1: Again, the candidate 
includes in their general AO2 and 
AO3, a relevant case explaining 
the facts and remedy of specific 
performance.

AO2 and AO3: In this paragraph, 
the candidate takes a detailed look 
at equitable remedies and minors’ 
evaluating when they are used 
and when they cannot be used. 
This demonstrates focused and 
reasoned evaluation.

7

8

7

8
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Example Candidate Response – high, continued Examiner comments

       AO1: The candidate recognises 
the importance of the Limitation 
Act in a question concerned with 
equitable remedies. Case authority 
is used to illustrate this. There is 
also a brief mention of an equitable 
maxim.

AO2 and AO3: The candidate 
addresses one of the equitable 
maxims and assesses when equity 
might be defeated. Two relevant 
cases are used to support the 
discussion.

       AO1: As before, amongst AO2 
and AO3, the candidate identifies 
relevant equitable remedy cases. 
The candidate identifies the facts of 
the case and the relevant remedy.

AO2 and AO3: This paragraph 
demonstrates focused and 
reasoned evaluation with the 
candidate looking at a different side 
of the discussion namely some 
of the drawbacks and limitations. 
Cases are used well to illustrate.
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Example Candidate Response – high, continued Examiner comments

       AO2 and AO3: This paragraph 
is essentially a continuation of the 
previous one with the candidate 
continuing to look at the fact that 
the remedies are used only in 
exceptional circumstances. This 
relates back to the beginning where 
they stated that the remedies were 
only available in situations where 
damages would not suffice.

       AO2 and AO3: Very neat 
conclusion drawing everything 
together and answering the 
question one final time.

Mark for AO1 = 10 out of 12
Mark for AO2 = 5 out of 5
Mark for AO3 = 8 out of 8

Total mark awarded =
23 out of 25 

How the candidate could improve their answer
•	 The candidate would have achieved full marks for AO1 had they included detail on rescission. The candidate 

merely mentioned the name and no more.
•	 The range of analysis and assessment demonstrated by this candidate meant that full marks for AO2 and AO3 

were well deserved.
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Example Candidate Response – middle Examiner comments

       AO1: The candidate starts by 
accurately setting out when an 
equitable remedy will be granted.

AO2 and AO3: Within this 
paragraph, the candidate addresses 
the question and briefly mentions 
fairness but no more.

       AO1: Next, in this paragraph, 
the candidate explains briefly 
what specific performance is. The 
candidate then drifts away from 
explaining in detail the actual 
remedy to explaining the equitable 
maxim ‘delay defeats equity’ and 
illustrates this with a case.

AO2 and AO3: Whilst the candidate 
begins this paragraph explaining 
specific performance, they move 
to analyse one of the equitable 
maxims. There is implied AO2 and 
AO3 from the facts of the case.

       AO1: The candidate continues 
to drift away from the question and 
concentrates again on equitable 
maxims, in this paragraph on 
‘those who seek equity must come 
with clean hands’. The maxim is 
illustrated with two cases rather 
than using the cases to illustrate 
the type of remedy and when the 
remedy can or cannot be used.

AO2 and AO3: As above, the 
candidate analyses another 
equitable maxim and again uses the 
cases to imply fairness. However, 
this all lacks focus and reason and 
is drifting from the issue at hand, 
namely equitable remedies.

2
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Example Candidate Response – middle, continued Examiner comments

       AO1: In this paragraph, there 
is a brief but accurate description 
of injunctions in general. A case is 
used to illustrate but the explanation 
fails to show how an injunction was 
used in the case.

AO2 and AO3: There is no analysis 
or evaluation in this paragraph.

       AO1: Recission, specific 
performance and restitution are 
joined together in an assessment 
and evaluation paragraph. Amongst 
the assessment, the candidate 
correctly describes restitution, what 
the aim is and, adds authority.

AO2 and AO3: Whilst rescission 
and specific performance are 
mentioned in this paragraph, the 
candidate analyses and evaluates 
restitution and acknowledges that 
it is a fair principle and prevents 
unjust enrichment. The case is used 
as justification.

       AO1: In this paragraph, the 
candidate brings in the topic of 
minors and how they are not 
subjected to the same rules of a 
person with full capacity. Stature 
incorrectly named.

AO2 and AO3: In this paragraph, 
there is no explicit assessment, 
however, by stating the legal rules 
there is implied analysis/evaluation 
of protection/fairness as minors are 
not the same as adults.

6
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Example Candidate Response – middle, continued Examiner comments

       AO2 and AO3: The candidate 
makes a basic attempt at a 
conclusion returning to the question 
and trying to apply it. It is not fully 
developed or reasoned.

Mark for AO1 = 8 out of 12
Mark for AO2 = 3 out of 5
Mark for AO3 = 2 out of 8

Total mark awarded =
13 out of 25

77

How the candidate could improve their answer
•	 Whilst this candidate clearly had an idea of the types of equitable remedies and what they were, they would have 

achieved Level 4 marks had they separated each one and given a description with a case example. Candidates 
have to take care that they answer the question asked. This question was on equitable remedies rather than equity 
as a whole and equitable maxims.

•	 There was some reasoned analysis and evaluation, but it lacked reason and was often partially developed. The 
drift into discussion of equitable maxims limited the marks available.
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Example Candidate Response – low Examiner comments

       AO1: This candidate starts with 
an introduction but drifts straight 
into addressing damages and 
the aim of damages rather than 
concentrating on the question, 
namely equitable remedies.

       AO1: In this paragraph, the 
candidate wanders into the area 
of pecuniary and non-pecuniary 
losses. There is no credit available 
as such losses are not relevant to 
this question.

1 1
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Example Candidate Response – low, continued Examiner comments

       AO1: It is in this paragraph that 
the candidate starts to acknowledge 
equitable remedies and names 
them (albeit not all correctly). The 
most detail given is in respect of 
the different types of injunctions 
with the addition of a case, albeit 
unnamed.

AO2 and AO3: There is a hint of 
AO2 and AO3 through the facts of 
the injunction case. However, there 
is very limited use of legal rules and 
no evaluation.

       AO1: In this paragraph, the 
candidate briefly explains specific 
performance. The description is 
limited and lacks detail. There is 
case citation, but no more detail 
given than it is a case involving 
specific performance.

       AO1: The candidate gives a 
brief explanation of rescission. An 
unnamed case is used to illustrate 
when rescission will not be granted. 
There is a lack of focus and 
accuracy.

       AO1: Rectification is not 
relevant to this question.
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Example Candidate Response – low, continued Examiner comments

       AO2 and AO3: The candidate 
attempts AO2 and AO3 but applies 
the rule of damages rather than the 
aim of equitable remedies but there 
is a hint of an attempt to compare 
fairness in terms of equitable 
remedies and damages.

       AO1: The rest of the response 
fails to contain any relevant content. 
The candidate drifts into the 
limitations of an award of damages.

AO2 and AO3: There is no further 
creditworthy content.

8
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Example Candidate Response – low, continued Examiner comments

Mark for AO1 = 5 out of 12
Mark for AO2 = 1 out of 5
Mark for AO3 = 2 out of 8

Total mark awarded =
8 out of 25

How the candidate could improve their answer
•	 To improve their marks, this candidate needed to concentrate on the question asked. The response was 

undermined by error and drift into areas of law not relevant. Almost half of the response addressed content not 
relevant to the question. Whilst there was some accuracy in descriptions there was a lack of any detail and range 
of case illustrations. Ideally, a candidate would address each remedy separately.

•	 This response lacked any detailed analysis and evaluation. The candidate needed to address the key word in the 
questions ‘justice’ and analyse and evaluate. The very limited AO2 and AO3 was supported by limited use of legal 
concepts.

Common mistakes and guidance
•	 The main mistake made by candidates was to confuse equitable remedies with the grant of damages and the 

limitations. Where equitable remedies were addressed, they were, more often than not, addressed in a very brief 
manner with limited detail and authority. Whilst candidates were most knowledgeable on specific performance and 
Injunctions, rescission and restitution often only received a mere mention. Candidates would have benefitted from 
addressing all four equitable remedies, giving a description and a case illustration rather than concentrating on just 
one or two and addressing those in detail.

•	 A common mistake was to explain the facts of cases rather than using the reasons for the decisions and discussing 
fairness/justice. The analysis and evaluation was often limited. A good technique is to take one issue, explain what 
is fair about it, e.g. that it is just, develop that discussion further and then either discuss in greater detail or give a 
counter argument.
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Question 4

Example Candidate Response – high Examiner comments

       AO1: This is a good 
introduction. The candidate gives 
a definition of acceptance and 
explains that acceptance must 
mirror the offer and some of the 
different ways acceptance can 
happen.

AO2 and AO3: Whilst there is 
not explicit AO2 and AO3 within 
the introduction, there is some 
implied by stating the rules 
are that acceptance requires 
communicating.

       AO1: The candidate addresses 
one of the key rules of acceptance, 
namely silence. A relevant case is 
used to illustrate the rule.

AO2 and AO3: Within the 
explanation of silence, the 
candidate acknowledges that the 
rule is that acceptance must be 
communicated. The facts of the 
case by implication respond to the 
question asked and offer a form of 
analysis.

11
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Example Candidate Response – high, continued Examiner comments

       AO1: In this paragraph, the 
candidate addresses another 
method of acceptance, namely that 
associated with unilateral contracts 
and explains when acceptance 
takes place in these. The candidate 
uses the case of Carlill to illustrate 
the rule. Usually, it is not necessary 
to write out all the facts of a case, 
but in this response, the candidate 
has used the case well to illustrate.

AO2 and AO3: As above, the 
candidate focuses on the question 
and acceptance in unilateral offers. 
The candidate explains the rules 
relating to acceptance and unilateral 
agreements can be considered 
an exception to the general rule. 
This is supported by effective use 
of a case. The entire paragraph is 
supported by relevant material.

       AO1: The candidate gives brief 
mention of Errington v Errington. 
They correctly identify the legal rule.

AO2 and AO3: There is brief 
mention of the rule illustrated 
in Errington v Errington but no 
analysis or further discussion.
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Example Candidate Response – high, continued Examiner comments

       AO1: Acceptance by conduct 
is dealt with in this paragraph. 
Again, the case authority is used 
accurately to illustrate the rule.

AO2 and AO3: When addressing 
conduct, the candidate identifies 
that this is another exception to the 
general rule. This is responding to 
the question asked and offering 
some analysis.

55



Example Candidate Responses – Paper 3

43

Example Candidate Response – high, continued Examiner comments

       AO1: There is detailed 
address of the postal rule. The 
candidate uses the case of Adams 
v Lindsell to illustrate the rule and 
demonstrates detailed knowledge 
and understanding of the rule.

AO2 and AO3: As above, the 
candidate notes that the postal rule 
is another exception to the general 
rule. They acknowledge this is a 
very old exception and asks why it 
was used. They then go into deeper 
analysis and evaluation of this rule 
and how unfair it may be considered 
and that perhaps it should now be 
excluded.

66
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Example Candidate Response – high, continued Examiner comments

       AO1: The candidate explains 
the rule regarding modern 
technologies in this paragraph and 
the fact that they are considered 
to be the same as face-to-face 
agreements. Relevant authority, 
Entores, is used to illustrate how the 
rule is applied.

AO2 and AO3: Whilst there is 
limited explicit evaluation and 
analysis within the paragraph 
relating to non-instantaneous 
methods of communicating 
acceptance, the candidate still 
responds to the question asked and 
why it is considered face-to-face.

       AO2 and AO3: Explicit AO2 and 
AO3 is evident in this paragraph. 
The candidate acknowledges 
that there is still uncertainty in 
communications with more modern 
forms of acceptance. There is 
focused and reasoned analysis and 
evaluation.

       AO2 and AO3: The candidate 
writes a very neat and concise 
conclusion returning to the question 
and reiterating the issues.

7
7
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Example Candidate Response – high, continued Examiner comments

Mark for AO1 = 12 out of 12
Mark for AO2 = 4 out of 5
Mark for AO3 = 6 out of 8

Total mark awarded =
22 out of 25

How the candidate could improve their answer
•	 The candidate addressed the key areas including the general rules and the exceptions. All areas were supported 

by relevant authorities.
•	 They could have added more explicit AO2 and AO3 and acknowledged that there is uncertainty in some areas 

rather than only concentrating on certainty. This would have been enough for full marks.
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Example Candidate Response – middle Examiner comments

       AO1: The candidate starts with 
a brief introduction to the topic of 
acceptance and acknowledges that 
modes of acceptance may vary.

AO2 and AO3: The candidate sets 
the scene for discussion – that there 
are different modes of acceptance.

       AO1: In this paragraph, the 
candidate sets out the general 
rule regarding instantaneous 
methods and states that there are 
exceptions. This demonstrates an 
understanding of the topic.

AO2 and AO3: There is limited 
analysis/evaluation but the 
candidate acknowledges that there 
are exceptions.

       AO1: There is no direct 
acknowledgement that the postal 
rule is an exception to the general 
rule, but the candidate neatly 
explains the postal rule and 
illustrates it with relevant authority.

AO2 and AO3: Whilst there is no 
explicit assessment/evaluation, the 
explanation of the postal rule is 
enough to be considered implied 
analysis.
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Example Candidate Response – middle, continued Examiner comments

       AO1: The candidate gives a 
brief description of the silence rule, 
but no detail or case authority is 
given.

       AO1: In this paragraph, the 
candidate addresses acceptance 
by machines and the issue of 
implied acceptance. There is some 
accuracy, but the description lacks 
detail and there is no case authority.

AO2 and AO3: There is limited 
analysis and evaluation. There is 
acknowledgment that acceptance is 
not always expressly stated.

       AO1: In the final paragraph, the 
candidate concludes by returning to 
the postal rule and using this as a 
reason as to why the statement is 
not accurate.

AO2 and AO3: To conclude, the 
candidate addresses the question 
and states that they do not 
completely agree.  They return to 
the postal rule and instantaneous 
methods to illustrate.

Mark for AO1 = 7 out of 12
Mark for AO2 = 2 out of 5
Mark for AO3 = 3 out of 8

Total mark awarded =
12 out of 25

4
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How the candidate could improve their answer
•	 The candidate only addressed the postal rule of acceptance in any detail. Silence and acceptance by conduct 

were mentioned but there was basic knowledge and understanding. If these had been more detailed, in particularly 
silence, a higher level would have been achieved. Addressing acceptance and waiver in unilateral contracts would 
also have boosted the marks awarded.

•	 Throughout the response, there was some reasoned analysis and evaluation, but it was only partially developed 
with no depth. The candidate would have benefitted from adding detailed AO2 and AO3 to each point addressed.
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Example Candidate Response – low Examiner comments

       AO1: This question specifically 
identifies the area of contract law to 
address, namely acceptance. There 
was therefore no requirement to set 
out all the individual elements of 
formation.

       AO1: Whilst there is no 
requirement to write out the 
question or part of the question, this 
sometimes helps keep candidates 
focused.

       AO1: The candidate gives a 
brief description of the acceptance 
rule attracting limited AO1 marks.

       AO1: The candidate sets out 
the facts of a case (unnamed). This 
case is the authority for silence. 
The candidate does not explicitly 
address silence but is accurate 
when they state acceptance was 
not communicated.

AO2 and AO3: Through the facts of 
the case, the candidate implies that 
acceptance must be communicated 
suggesting limited analysis/
evaluation but supported by limited 
use of legal principle.
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Example Candidate Response – low, continued Examiner comments

       AO1: Death is relevant to offer 
rather than acceptance and has no 
relevance here.

       AO1: The final paragraph 
acknowledges that there are 
various means of communicating 
acceptance but only in a limited 
way, and addresses one, namely 
the postal rule.

AO2 and AO3: As noted above, 
by explaining the postal rule, 
the candidate produces implied 
analysis/evaluation but in a limited 
way with little reasoning.

Mark for AO1 = 3 out of 12
Mark for AO2 = 1 out of 5
Mark for AO3 = 2 out of 8

Total mark awarded =
6 out of 25

55

6
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How the candidate could improve their answer
•	 The candidate needed to set out and explain the general rule of acceptance, i.e. that it must be a mirror image of 

the offer and must be communicated to show understanding and knowledge of the topic. There were four main 
areas to address. Only two of the four were mentioned in the response and in a very limited way.

•	 The candidate would have benefitted from keeping the question at the forefront of their mind as they set out their 
response. This is needed so that there is relevant analysis and evaluation throughout. Reference to the accuracy of 
the statement as per the question was required.

Common mistakes and guidance
•	 The mistake made by candidates was to concentrate on the problem with the postal rule rather than explaining 

the general rule associated with acceptance and the various exceptions to the rule. A question only requiring 
acknowledgement of the postal rule would be made clear in the wording of the question. It is so important to read 
the question carefully so that the response incorporates a range of relevant content.

•	 One of the key mistakes made by candidates was not to refer to the command rules when analysing and 
evaluating. There were often general discussions of what was good about acceptance, e.g. the postal rule, and 
what was bad. There were many responses drifting away from the question and simply evaluating acceptance as a 
concept.
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Question 5

Example Candidate Response – high Examiner comments

       AO1: The candidate starts 
by briefly explaining where the 
topic fits into the formation of a 
contract. The two presumptions 
are accurately explained. This 
paragraph also briefly explains how 
both presumptions can be rebutted.  
The focus is on the question asked.

AO2 and AO3: The candidate 
focuses on the question from the 
start. Within this paragraph, there 
is mention of the difficulty involved 
in deciding whether parties intend 
to be legally bound and how the 
courts have developed rebuttable 
presumptions that demonstrates 
analysis. The candidate continues 
their analysis and states that there 
are no ‘hard and fast rules’ and 
explains when the presumptions 
can be rebutted, suggesting that 
there is a requirement of strong 
evidence required if the courts are 
to rebut the presumption.
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Example Candidate Response – high, continued Examiner comments

       AO1: The candidate gives a 
brief explanation of the commercial 
presumption and what it takes to 
rebut the presumption.

       AO1: The candidate continues 
addressing commercial agreements 
and uses authority to illustrate 
examples of when intention was 
found and why.

AO2 and AO3: The candidate 
focuses on the relevant issue 
and analyses the situation 
involving gratuitous promises and 
agreements where free gifts are 
given and how the court may still 
find legal intent. This is effectively 
supported by relevant case 
authorities.
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Example Candidate Response – high, continued Examiner comments

       AO1: Rose and Frank Compton 
Bros and Blue v Ashley are used 
to illustrate two situations where 
the commercial presumption was 
rebutted.

AO2 and AO3: The candidate uses 
the two relevant case authorities to 
illustrate why there is a need for the 
courts to intervene as without this, 
parties may unwillingly be bound. 
Both cases are used to focus on the 
question and demonstrate effective 
analysis.

       AO1: The candidate gives a 
brief explanation of the situation 
regarding social and domestic 
agreements and when such may 
arise.
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Example Candidate Response – high, continued Examiner comments

       AO1: The case facts of Balfour 
v Balfour and Merritt v Merrit are 
used to further illustrate social and 
domestic situations showing good 
knowledge and understanding of 
this area.

AO2 and AO3: Using contracting 
cases is an effective way of 
showing analysis supported by 
relevant material. The candidate 
explains why there was a different 
outcome in Merritt v Merritt and how 
this helps the courts decide whether 
or not there is intention and a valid 
contract.

       AO1: The candidate uses 
contrasting cases to further illustrate 
social and domestic situations.

AO2 and AO3: These two 
paragraphs lack detailed analysis. 
However, the candidate recognises 
situations where intention will 
be found in social and domestic 
agreements, for example, when 
money is exchanged.

       AO1: The candidate finishes 
the question with a very brief 
conclusion having focused on the 
theme of the question throughout.

Mark for AO1 = 10 out of 12
Mark for AO2 = 4 out of 5
Mark for AO3 = 6 out of 8

Total mark awarded =
20 out of 25
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How the candidate could improve their answer
•	 Candidates should remember to utilise the word(s) within the question. This candidate did not refer to the question 

and, in particular, did not use the word ‘justified’ as per the question. Whilst it is possible to imply by the response 
that the candidate was looking at the intervention of the court, full AO2 and AO3 marks demand a complete focus 
on the question asked.

•	 The candidate could have included additional detailed reference to the legal reasoning in cases rather than simply 
naming cases and a small hint of relevance for example. This could be seen in the paragraph where parent and 
child and siblings in partnerships were addressed.  
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Example Candidate Response – middle Examiner comments

       AO1: There is no credit 
available for explaining the 
elements required for a valid 
contract particularly when the 
question is specifically on one area 
of formation, namely intention to 
create legal relations.

       AO1: The candidate sets 
out the requirements mentioned 
in the first paragraph in more 
detail concentrating on offer and 
acceptance. Whilst the knowledge 
demonstrated is accurate, it has no 
relevance to the question asked and 
therefore no credit can be awarded.

       AO1: The candidate accurately 
sets out the rebuttable presumption 
in respect of domestic agreements. 
Two contrasting cases are used 
to illustrate when and how the 
presumption of no legal intent may 
be rebutted.

AO2 and AO3: There is some 
reasoned analysis of domestic 
agreements in this paragraph.  
The candidate uses two cases 
to illustrate similar situations with 
different outcomes. The reason for 
the difference is explained.

       AO1: The candidate builds 
on the previous paragraph and 
introduces a different agreement, 
that between parent and child. 
Relevant case authority is used 
accurately to illustrate.

AO2 and AO3: Whilst the paragraph 
lacks explicit AO2, there is a hint of 
analysis in so far as the candidate 
explains the need for evidence and 
how this was not apparent in the 
case used to illustrate.
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Example Candidate Response – middle, continued Examiner comments

       AO1: The candidate adds 
information on social agreements 
and the circumstances in which 
there may be intention to create 
legal relations.

AO2 and AO3: As with the previous 
paragraph, there is no explicit AO2 
or AO3.

       AO1: The issue of commercial 
contracts is addressed in this 
paragraph. The candidate 
accurately states that these will 
have legal intent, but the intention 
may be rebutted. One relevant case 
is used to illustrate. The candidate 
mentions some exceptions when 
the presumption will be rebutted.

AO2 and AO3: The candidate 
continues in a similar way to the two 
paragraphs above by using cases to 
imply some analysis and evaluation.

       AO1: The candidate adds a 
conclusion, but it fails to wholly 
relate back to the question asked.

AO2 and AO3: The conclusion to 
the response does not add any 
additional AO2 and AO3.

Mark for AO1 = 9 out of 12
Mark for AO2 = 3 out of 5
Mark for AO3 = 4 out of 8

Total mark awarded =
16 out of 25
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How the candidate could improve their answer
•	 The candidate could have improved their response, adding to their AO1, by including a greater range of exceptions 

in both domestic and commercial agreements and authority. It is important to concentrate on the topic being 
addressed. This candidate’s response could have been improved by addressing the question throughout the 
response and within the conclusion.

•	 To reach the higher level, the analysis and evaluation needed to be detailed and reasoned. It must also be explicit 
and supported by relevant material.
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Example Candidate Response – low Examiner comments

       AO1: The candidate starts by 
briefly setting out where intention 
to create legal relations fits in 
formation but no more. There 
is no credit available for such a 
statement.

AO2 and AO3: The candidate states 
that intention is justified, but it is 
not accompanied with a reason 
why. Statements should include a 
justification.

       AO1: In this paragraph, 
the candidate explains the 
facts of two relevant cases but 
unfortunately fails to explain the 
legal concept and how it is applied 
in domestic agreements. Whilst 
setting out some facts helps 
show understanding, there is no 
additional credit for writing out the 
facts in detail. Legal reasoning/
principle is more important.
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Example Candidate Response – low, continued Examiner comments

       AO1: As with the paragraph 
above, the candidate sets out 
the facts of a different domestic 
agreement but again misses out 
setting out the legal reasoning/
principle, for example, explaining 
the rebuttable presumption and why 
it did not apply.

AO2 and AO3: As with the 
paragraph above, there is a hint of 
analysis but there is no real focus of 
support.

3 3
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Example Candidate Response – low, continued Examiner comments

       AO1: The candidate 
demonstrates awareness of 
commercial agreements and cites 
authority. The facts of the case 
are inaccurate but there is a hint 
at understanding that business 
agreements are serious. The end 
of this paragraph indicates some 
confusion.

AO2 and AO3: A hint of analysis 
with the mention of how serious 
commercial agreements are, but 
there lacks a link to the question.

44
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Example Candidate Response – low, continued Examiner comments

       AO1: This paragraph does not 
attract credit as it is ambiguous and 
fails to make a point.

AO2 and AO3: No marks are 
awarded in this paragraph as it 
lacks coherent analysis and/or 
evaluation.

       AO1: The candidate provides 
a conclusion but there is no detail, 
reasoning or point made.

AO2 and AO3: The conclusion 
states that the rule is justified in 
commercial contracts but not in 
between family and friends, but 
there is no reason or justification for 
making such assertion.

Mark for AO1 = 5 out of 12
Mark for AO2 = 2 out of 5
Mark for AO3 = 1 out of 8

Total mark awarded =
8 out of 25
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How the candidate could improve their answer
•	 The candidate needed to show an understanding of the topic being addressed. Mere case facts are not enough. 

Legal reasoning for decisions is the best way of demonstrating detailed knowledge and understanding.
•	 The candidate’s response would have reached the higher levels by focusing on the whole of the question and 

using the legal concepts and cases to analyse/evaluate, in this case, justifying the concept of intention to create 
legal relations. Without doing this, it is difficult for marks to be awarded.

Common mistakes and guidance
•	 Evidenced by the responses, a common mistake was that candidates did not read the question before answering. 

Taking a few minutes to read the question and to establish what is required is essential. It was not uncommon 
to see candidates writing out all they knew about intention to create legal relations but at no time referring to the 
question and in particular justification for the concepts. It would benefit many students to learn how to explain case 
facts in brief. Setting out everything that happened in a case is not necessary and not something that can be given 
extensive credit. Material facts and legal reasoning are key.

•	 When there are two or more elements of a topic, candidates should try and allocate an equal amount of time for 
each element.
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